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Q.1

Candidates should answer in their own words as much as possible.

318t usat siforari 3

All questions are compulsory.

el Uil Dl 31 52 3

Total number of questions is 52.

U2l 1 A 30 D IBADICTI U961 8 | U U%1 b AR [dwey fGu sie 8 A8t fdaey o1
TRIo! DIfSERI| Ui UssT O fe1u 01 3icp forerifye 3

Question No. 01 to 30 are multiple choice questions, each question has four options. Select the

correct option. Each question carries 01 mark.

US6T 0T 31 3 38 A 3ifel o1 IilRr sl 31 f51191 3 fobodt 6 Uil ol 3112 ol Siforart
31 UID Ul bl Hlol 2 3idb forertfya 2

Question numbers 31 to 38 are very short answer questions. Out of which it is mandatory to
answer any 6 questions. Each question carries 02 marks.

U961 AT 39 A 46 AP o1 IR U1 3l F3R131 A fdbos! 6 Usell ol 3t1R Soll Mforar] 3
URID U1 DI Aol 3 3D forerifad 3

Question numbers 39 to 46 are short answer questions. Out of which it is mandatory to answer
any 6 questions. Each question carries 03 marks.

U%6T JRAT 47 A 52 SIEl IR Ut 31 febodl 4 UGl DI TR Soll fOIAR] 3] Ui U9sT DI
TGl 5 3icp forerifya 3l

Question numbers 47 to 52 are long answer questions. It is mandatory to answer any 4 questions.

Each question carries 05marks.

el GUUT bl Bl Gt e Bledl 82

a)0

b) 3lolcl

c)25cm

d) -25 cm

What is the focal length of a plane mirror?
a)0
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b) infinite
c) 25 cm
d) -25 cm

Q2 [t aq @I 31adel ouvl gRI AR, 3cicl IR Aol PR DI UfIFd soldl & Al

a=q ol Rerfer qe 8?
a) FUR b)3Iold U2
b) CIR d)C A 31161

A concave mirror gives real, inverted and same size image if the object is placed at-

a) AtF
b) At infinity
c) AtC

d) Beyond C

Q.3 foratfcif3aa 9 21 fop3I6T UabIol A (ISt SIfet 3 TACIAL 82

N

a) dcl

b) Ulofl
c) arg

d) Dol

In which of the following, does light travel the fastest?

a) Oil
b) Water
c) Air
d) Paper

Q4  Um I &l $FHAI -4 &, 3AD! BIDA G31 aar Blofi?

a) 4m

b) -40m
C) -0.25m
d) -25m

Power of the lens is -4,what will be its focal length?

a) 4m

b) -40m
c) -0.25m
d) -25m
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Q.5 #loId ol>1 &bl Bl 3t 3 uf¥drciol ol arar BIu1 82

a) ifolRIr

b) AIS3A

c) 31113131 ARMUTSRIT
d) Uil

D

What is the cause of the change in focal length of the human eye?

a) Cornea
b) Iris
c) Ciliary muscles
d) Pupil
Q.6 geftegiu dl —— off paI S 8

a) BISUHCIIUT
b) AR

c) Alfcrifdg

d) UdRIfURI

Far-sightedness is also known as ——.

a) Hypermetropia
b) Myopia
c) Cataract

d) Presbyopia
Q.7  UfeRIel &I S ABID =T 3?

a) dlcc

b) BAS
c) vFdiRR
d) 31

The SI unit of resistance is

a) Volt
b) Faraday
c) Ampere
d) Ohm

NN

Q.8 ool dI 3usllel forFolfciRaa 4t A fdprei fdbe Sirar 32
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Q.9

d) a1 foratior
Tungsten is used in which of the following?

a) Metal extraction

b) Electric bulb

c) Insulators

d) Textile manufacturing
qeabRI 811 31U forapetddl 8
a) ofdmofl gra

b) IRl ga
c)  TuD DIdDG
d)  Sold A DIS ofdl

Magnetic field lines emerge from

a) South pole
b) North Pole
c) Center of magnet

d) None of these option

Q.10 forgaifciR¥ac 31 3 Dlol AT BHIL fTU 3561t DI U Hld &2

a) NG RV RS
b) U] ol
c) AI2 oIl

d) 21 vot st
Which of the following is the ultimate source of energy for us?
a) LPG
b) Nuclear
¢) Solar
d) CNG
11. IRARIfOID HHIDUID] 8 {5 foRI D DRUI AdeTd D 8?
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a) godIol AIGIVI DI oI
b) ez srofurd oI forra
c) Slccol & wRd] Brgia
d) regfora smrad formr

Due to which law do we balance the chemical equation?
a) Law of conservation of mass

b) Law of constant proportion

c¢) Dalton's atomic theory

d) Modern periodic law

12.Fe+CuSO,—> Cu+ FeSO, fdp31 UbIR oI 3ifdifepen 37
a) J=IITol

b) f[A=IISIo

¢) f[azenuer

d) g fazemuar

What type of reaction is

Fe+CuSO4 —> Cu+ FeSO4

a) Combination

b) Decomposition

¢) Displacement

d) Double Displacement

13.H" 31RIol bl Aigdr faba ucrel 3 Ad 31t aleil?

a) SIo2 3A

b) oflq @1 2A

¢) 9IG Siel

d) f3rc 3w FAoohiforRm
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Which substance will have the highest concentration of H+

a) Gastric juice

b) Lemon juice

c¢) Pure water

d) Milk of magnesia

14.Uctel A, B, C 71 D I PH #IIol HaA9L: 5,8 ,10 ,13 & SURKD 3 Dlol UcIef 3ol 8?
a)A

b) B

c)C

d)D

The pH value of substancesA, B, Cand D is5,8,10 ,13 respectively which of the following substance is an

acid?

a) A

b) B

c)C

d)D

15. forFotferRa 3t 21 {3531 cTauT T IURIIeT ATST 31F¢T TSI 3 f3pel SITdT 32
a) NaCl

b) NaHCO,

¢) Na2CoO,

d) CaSO,

Which of the following salts is used in soda acid fire extinguishers?

a) NaCl

b) NaHCO,
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¢) Na2CO,

d) CasSoO*

16. forgotfcrf3aa 3t 31 dlot Ierrer sifass 32
a) CO,

b) ALO,

¢) Na,O,

d) Fe,0,

Which of the following is amphoteric oxide?

a) CO,

b) ALO,

¢) Na,O,

d) Fe,O,

17. 1&u 31e drdi P sciaciiord [doIRT 4 Dlol 3ate S1 DI SeIdgiiold [AoRIRT 8?2
a)2,8,1

b) 2,8,7

c)2,8

d)2,8,5

Which is the noble gas electronic configuration in the electronic configuration of the given elements?
a)2,8,1

b) 2,8,7

c)2,8

d)2,8,5

18. forgaferRaa 3 plol RIAH 53PN 3?

SRS IISID 3olielol ud UfSIsor uldug, el [dfseT ussl U] [2023-2024] Page 7 of 17



a) CH,

b) C,H;

c) C,H,

d) C,H,,

Which of the following is an unsaturated hydrocarbon?
a) CH,

b) C,H,

c) CH,

d) C4H10

19. HCHO # ®lol UDRIIcHD S 8?
a) BeDIacT

b) iclol

c) BicsaIss

d) oraiadifcTe s

What is the functional group in HCHO?
A) Alcohol

b) ketone

c¢) Aldehyde

d) Carboxylic acid

20. f&w a1 aeal 3 fopa1 aca 3 AFREns sciadioll &bl e ferfére & gRraz gsfl?
a) ATSGIORIHA

b) DCIIRIA

c) UICIORIA
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d) gcgfdforeret

Which of the following elements will have the same number of valence electrons as lithium?

a) Magnesium

b) Calcium

c¢) Potassium

d) Aluminum

21. 3eftan 9 531 U2 T Wit BIA1 3 2
a) Uolidl JIyur

b) Zadidi gigor

c) Hiﬂﬁﬁfﬁ UIqur

d) urofl Je1siiahl ot

What type of nutrition is there in amoeba?
a) parasitic nutrition

b) Autotrophic nutrition

¢) Saprophyte nutrition

d) Holozoic nutrition

22. %G1l Uchd 31 oISl A URRAC Pl [AxdS6l Dal Blell 87
a) DISIDI Go=T

b) ASAIDIfZT 3

¢) BARI uofl &

d) AMre

Where does pyruvate breaks down from glucose in the respiratory process?

a) In the cytoplasm
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b) In mitochondria
¢) In our muscles

d) In yeast

23. foreotfciiRac 3t A dlol 1 awilol 9R12 Bl alig & fere urucr o forIeet Br 8?

a) af.g grdilol
b) sfctel
C) AN N AY]

d) erRRIfdRIer

Which of the following hormones regulates metabolism for body growth?

a) Growth hormone
b) Insulin
c¢) Testosterone

d) Thyroxine

24 101 31 218l 3ol fopeIaiY oI forRBIvI Dal A Bldl &7

a) YA AcD
b) ALAARASD
C) NN\

d) el

Where is the control of all involuntary actions in humans?

a) cerebrum
b) midbrain
¢) hypothalamus

d) medulla

SRS 1D 3lofRitllol ud UfdIsiur uidus, At

[sifSc U%6I U]

[2023-2024]

Page 10 of 17



25. 1&u & s1e T 531 UPIR O STotol dI UGOId BT 32
a) [dasar

b) AdSal

¢) Uolm&91do]

d) Icbetol

oY
3-4-%- 0
‘ v KA <
What type of reproduction does the given figure represent?
a) Fragmentation
b) Regeneration
c) Vegetative propagation
d) budding
26,3101t 31 foIcIol sl Il 8?
a) 3ISAIBDI
b) QIcbdIfBdT
c) STHTORT
d) 2Aifot
Where does fertilization take place in humans?
a) Fallopian tube
b) vas deferens

c¢) Uterus

d) Vagina
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27. fop2it Sfta 3 o1s spur usnifda siar 8-

a) dbdc [UAr  DNA A

b) Sl AL P Slvolu A

¢)fUd 3ii2 ATl Gloli b DNA A

d)ol fUdr & DNA 3iI3 of ATl  DNA A
A trait in an organism is influenced by

a) Parental DNA only

b) Maternal DNA only

c¢) Both paternal and maternal

d) neither paternal nor maternal

28 oMb [ 2RI 9Ifep ARIA I fopA ufehan 3 3ot b aledl 8?2
A) olIfIrcbIRI IcTRIol
b) olIfdrcbRI fdasar

¢) SIcT oI fAE 31uercol

d) dgell O 3>cdi Raara

By which process is energy released in a nuclear power plant?
a) Nuclear fusion

b) Nuclear fission

c) Electrolysis of water

d)Moon’s gravitational pull

29.83 G &I uftRIl Urd alol dicl 12 Holl I fobdoll UfcIord 1T ATel 3ol 9 ufdfcid dol i

a) 1%
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b) 10 %
¢) 100%
d)0.1%

What percentage of the solar energy received by the leaves of green plants is spent in converting it into

food energy? .

a) 1%

b) 10%

c) 100%

d) 0.1%

30. fowotfc1Rad 3 fdb1 UcTel I URIIST Dol URITARUI &b [e18 AT 3D AGRID BI91?
a) S[AIDIcI b [SIUISIcT DU DI

b) telIf¥cd & fS3UlsIcl DU DI

c) 31l &b 1S3UlSIcT U @1

d) IeIaI b fSIUIGICT U Bl

Using which of the following substances would be most beneficial for the environment?
a) thermocol disposable cup

b) plastic disposable cups

¢) clay disposable cup

d) paper disposable cups

(330 XS 3 DBl 8 U1 3 ISTo1d 3 6 U%6T I IR Goll 8 UID U b Gl 3icb forerifyd 8)

Q.31 B dIBail 4l 3IcT GUUI bl SURIIST -9 GUUI b U 3 a=ll DIl 37
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Why do we prefer a convex mirror as a rear-view mirror in vehicles?
Q.32 i1 bl g1eIcI oI ufsId b3 312 33l S.1 ABID o1l
Define power of a lens and write its S.I unit.

Q.33 ©U®d B Dl 3ifce Ufth 9 Jod2 sciddls UGl 3 diceIs aldl 3l acal fod oy A tifsa

S\ ..

Bl ADI 37 3A DA SIb fAb=IT ST ADT 32

A student has difficulty reading the blackboard while sitting in the last row. What could be

the defect the child is suffering from? How can it be corrected?

Q.34 fSu a1 Rt 3 Dl sifdifcpen 21 3281 8 2 sifdifcpeIr o1 sfiasur ferd |

2 Agcl = 2Ag +Cl,

Which reaction is taking place in the given picture? Write the equation of that reaction.

2 Agcl = 2Ag +Cl,

Q.35 Gldcdl oI ol fe1lRaw St aredt oIy gui &l 2

Write the names of two elements whose outer shell is complete?

Q. 36. JAASIIATRT 2uft a=m 32

What is Homologous Series?
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Q.37

fAdsel a8 Xisol A fbd UDR fdieot 8 2

How is fragmentation different from multiple fragmentation?

Q.38

URITAU] bl &<dlol &b {18 Uil YR &b R TRIT 37

What are the five types of R's to save the environment?

(331 A0S 31 DBl 8 U1 & FSToTdl 3 6 W61 I IR Goll 8 URID U b 3 3idb forelif¥a 3)

Q.39 5 el cies bl vp ¥ 10 Al WiwA g3 D v 3radet oA A 25 Aol g2 It 315 B

Q.40

uferfaea bl ferfey, SR 3l Ul sird Hifsiel

An object 5 cm in length is held 25 cm away from a converging lens of focal length 10 cm. Find

the position, size and nature of the image formed.

o fdgld Afcbe oI v 33 Jolle [SRIA YD 2 dice & dlot et Dl dell, v 5 Q
ufeRlel, B 8 Q ufeRer, 3R v 12 Q UfeRIel, 3i2 U tetel Poil, Astt Avficna 3 SIS g

2

ol

Draw a schematic diagram of a circuit consisting of a battery of three cells of 2 V each, a 5 {2

resistor, an 8 2 resistor, and a 12 £ resistor, and a plug key, all connected in series.

Q.41 GEIDRI 81T AV =T 8? JhI S1>1 3231 & Uil I ferdl

What are magnetic field lines? Write the properties of magnetic field lines.

Q.42. ¥3ia 3ifdfcp=II Rl 32 IGIEIVI b GRI AHST |

Q.43.

Q.44.

Q.45.

What is redox reaction? Explain by example.

DIEIoID ASID] b AUVRET el Aol ferdl

a. ®ICollol b.acilRIUcol c. dYoifct

Write the formulas and structures of organic compounds.

a. butanone  b.chloropentane c. methanol

o[t O ol B19ilol DI olre el PRI ferd |

Write the name and function of three hormones of human beings.

& 301l D dbicud Hldl D 32 aRIl €210l & 38 &7

Why are we looking towards alternative sources of energy?
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Q. 46. 31Silol ud bl sifel seI12 fo1e fRidr oot fawrer o=l 32 3371 sifer ol Hifdrd w2ol b fore ol o=

@RIl DGl IoToll ALBR?

Why is ozone layer depletion a matter of concern for us? What steps should we take to limit this damage?

(3 TS A BT 6 U%T 8 fSro1dl A TR U251l B IR Soll 8 IURID U b 5 i forerifya 3)

Q.47. Azl #lle I oltifcpd fpT TolrsRll 33D Rigid vd orifdfd ol Juse HifsE faea
Hlc3 3 Reie f3a1 DI Rl PRI 37

Draw a labelled diagram of an electric motor. Explain its principle and working. What is the
function of a split ring in an electric motor?

Q.48 UfeR1eIl oI AIolicR AANSTol Tl 82 AATGIR i SIS dlol UfeRIE®I R, R, 3R R, b A
UfeR1el SIIA B0l &b fo18 T RISIPD YrUool P2

What is parallel combination of resistors? Derive an expression to find the equivalent resistance

of three resistor R, R, and R, connected in parallel.

Q.49 SIRIfSID 3Mdel TR 3? IARIfOID AMSIDI b JUiEE! foRdl sciagiol i FeGAUI B GRI
Na,0 & foretor ol fezars]
What is an ionic bond? Write the properties of ionic compounds. Show the formation of Na,O by
transfer of electrons.
Q. 50 fr¥ct arr 8 231gol bt AWIS ufchen bl fopanfafer Jersise |
What is a micelle? Explain the mechanism of soap cleaning process.

Q.51 HIoId &G DI olAIfhd 5T JolIv | ATold &G 3 GIa2 Uf3AAVI bl AHSIIT|

Draw a labeled diagram of human heart.
Explain the double circulation in human heart.

Q.52 JiScl d U=IIeI A DA Udl dell fob -
a. CIgI0T UaTrd srerar  srueirddt BX 3|
b. fAfdroot c181uT Fqei>T U A GIG[OIA Bl 3
How did we find out from Mendal's experiment that -
Symptoms are effective or ineffective.

Different traits are independently hereditary.
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Answer Key

l.a 6.a 11.a 16.b 21.d |26.a
2.c 7.d 12.c 17.c 22.b |27.c
3.¢ 8.b 13.a 18.c 23.d |28.b
4.c 9.b 14.a 19.c 24.d |[29.a
5.c 10.c |15.b 20.c 25.c |30.d
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